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Mihaly Bencze

Second solution. First we will prove that for any z,y € R such that
x # y holds inequality
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Without loss of generality we can assume that = >y (because
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Latter inequality holds because sinht > t for any real ¢ > 0.
Indeed since (sinht — t)" = cosht — 1 > 0 then sinht — ¢ increasing in [0,00)
and, therefore,

sinht —t > sinh0 — 0 =0.

Noting that Fy_; = Fy1 — Fr and using inequality (1) we obtain
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Since ZZ:I Fk+2 = ZZ:I (Fk+4 == Fk+3) = Fn+4 e F4 and F4 =5 then
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W54. (Solution by the proposer.) We have the followings:
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Second solution. Let

for all = > 0. Now,

and
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for all x > 0, therefore f is convex for all = >0 again



